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доEт4тоG=о 6Dе<е=8 длO 6Kпол=е=8O 6о7ло6е==KE =4 =8E о5O74==оEте9,

 по=8<4Nт Dу=кF88, длO 6Kпол=е=8O котоDKE о=8 5Kл8 =47=4Gе=K, 8 E6оN
от6етEт6е==оEтL 74 8E 6Kпол=е=8е.

Отдел 6о77л46лOет Dуко6од8телL, котоDK9 =4Eод8тEO 6 пDO<о< подG8=е=88 7е=еD4лL=о<у
д8DектоDу ООО «�=DоD<�уд8т».
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6. �=DоD<4F8O о ко=тDоле 74 деOтелP=оEтPN 8 к4GеEт6о< 
ок47O64е<OE уEлу7 4уд8тоDEко9 оD74=874F8е9

5) �4O6ле=8е Dуко6одEт64 о =4л8G88 8 Dе7улPт4т86=оEт8 E8Eте<O 6=утDе==е7о
ко=тDолO 4уд8тоDEко9 оD74=874F88, ее Eоот6етEт688 тDе5о64=8O<
74ко=од4телPEт64 (по EоEтоO=8N =4 1 O=64DO 7од4, EледуNIе7о 74 7одо<,
8=DоD<4F8O 74 котоDO9 D4EкDO64етEO):
� О5IеEт6е D47D45от4=4, 6=едDе=4 8 поддеD6864етEO MDDект86=4O E8Eте<4 6=утDе==е7о
ко=тDолO к4GеEт64, от6еG4NI4O тDе5о64=8O< �!К 1 «'пD46ле=8е к4GеEт6о< 6 4уд8тоDEк8E
оD74=874F8OE, пDо6одOI8E 4уд8т 8л8 о57оD=Kе пDо6еDк8 D8=4=Eо6о9 отGет=оEт8, 4 т4к6е
6Kпол=ONI8E пDоG8е 74д4=8O, о5еEпеG864NI8е у6еDе==оEтL, 8л8 74д4=8O по ок474=8N
EопутEт6уNI8E уEлу7», путе< пD8=Oт8O 6=утD8D8D<е==о7о Eт4=д4Dт4 №4-�КК «�D468л4
упD46ле=8O к4GеEт6о< 6 ООО «�=DоD<�уд8т», ут6. 7е=еD4лL=K< д8DектоDо< 15.12.2023.

&Dе5о64=8O 8 пDоFедуDK, 87ло6е==Kе 6 �D468л4E упD46ле=8O к4GеEт6о< O6лONтEO
о5O74телL=K<8 длO 6EеE EотDуд=8ко6 пD8 6Kпол=е=88 EледуNI8E 74д4=89:
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4уд8т 8л8 о57оD=Kе пDо6еDк8 
6 Eоот6етEт688 E �!� 8 �!О�

74д4=8O, о5еEпеG864NI8е у6еDе==оEтL, 
8=Kе Gе< 4уд8т 8л8 о57оD=Kе пDо6еDк8, 
6 Eоот6етEт688 E �!�О'

74д4=8O по ок474=8N EопутEт6уNI8E 
уEлу7 E Eоот6етEт688 E �!!'



!8Eте<4 6=утDе==е7о ко=тDолO к4GеEт64, уEт4=о6ле==4O 6 ООО «�=DоD<�уд8т»,
6клNG4ет EледуNI8е Mле<е=тK:

�DоFеEE оFе=к8 D8Eко6 ;

УпD46ле=8е 8 6OEHее Dуко6одEт6о;

!оот6етEт6уNI8е Qт8GеEк8е тDе5о64=8O;

�D8=Oт8е DеHе=8O о =4G4ле 8л8 пDодол6е=88 D45отO E кл8е=то< л85о
D45отO по опDеделе==о<у 74д4=8N;

�Oпол=е=8е 74д4=8O;

 еEуDEO;

�=DоD<4F8о==4O E8Eте<4 8 8=DоD<4F8о==ое 6748<оде9Eт68е;

�DоFеEE <о=8тоD8=74 8 уEтD4=е=8O =едоEт4тко6.
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6. �=DоD<4F8O о ко=тDоле 74 деOтелP=оEтPN 8 к4GеEт6о< 
ок47O64е<OE уEлу7 4уд8тоDEко9 оD74=874F8е9



Фу=кF8о=8DуNI4O E8Eте<4 6=утDе==е7о ко=тDолO к4GеEт64 о5еEпеG864ет
D47у<=уN у6еDе==оEтL 6 то<, Gто:

 О5IеEт6о 8 е7о пеDEо=4л 6 Eоде ок474=8O уEлу7 6Kпол=ONт E6о8 о5O74==оEт8 6 Eоот6етEт688
E пDоDеEE8о=4лL=K<8 Eт4=д4Dт4<8, 4 т4к6е пD8<е=8<K<8 тDе5о64=8O<8 74ко=о6 8
=оD<4т86=KE 4кто6  оEE89Eко9 ФедеD4F88;

 �4клNGе=8O 8 отGетK, 6KпуIе==Kе О5IеEт6о< по Dе7улLт4т4< ок474=8O уEлу7, =оEOт
=4дле64I89 E4D4ктеD E уGето< ко=кDет=KE о5EтоOтелLEт6.

�е=еD4лL=K9 д8DектоD ООО «�=DоD<�уд8т» подт6еD6д4ет =4л8G8е 8 Dе7улLт4т86=оEтL E8Eте<K
6=утDе==е7о ко=тDолO 4уд8тоDEко9 оD74=874F88, оE=о64==о9 =4 6Kпол=е=88 тDе5о64=89 �!К 1,

�!� 220.
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6. �=DоD<4F8O о ко=тDоле 74 деOтелP=оEтPN 8 к4GеEт6о< 
ок47O64е<OE уEлу7 4уд8тоDEко9 оD74=874F8е9
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6) Оп8E4=8е пол8т8к8 8 пDоFедуD 6=утDе==е7о ко=тDолO к4GеEт64 D45отO пD8
ок474=88 4уд8тоDEк8E уEлу7 о5IеEт6е==о 7=4G8<O< оD74=874F8O<:

� О5IеEт6е уEт4=о6ле=K о5I8е пDоFедуDK 6=утDе==е7о ко=тDолO к4GеEт64 пD8<е=8<о к 
4уд8тоDEк8< уEлу74< 6 от=оHе=88 к46до7о Mле<е=т4 E8Eте<K ко=тDолO к4GеEт64, ук474==о7о 6 
пу=кте «4)» д4==о7о D47дел4 D4EкDKт89, 6 Eоот6етEт688 E тDе5о64=8O<8 �!К 1.
!Dед8 EпеF84лL=KE пDоFедуD 6=утDе==е7о ко=тDолO пD8 ок474=88 4уд8тоDEк8E уEлу7 
о5IеEт6е==о 7=4G8<K< оD74=874F8O< (О�О) 6Kделе=K EледуNI8е:
 �о6KHе==ое 6=8<4=8е 6опDоE4< ок474=8O уEлу7 О�О пD8 6KO6ле=88 8 оFе=ке D8Eко6, 

E6O74==KE E к4GеEт6о<, 
 Ко=тDолL Eоот6етEт68O =47=4G4е<KE Dуко6од8теле< 4уд8т4 л8F тDе5о64=8O< 

ФедеD4лL=о7о 74ко=4 N 307-Ф�, 6клNG4O тDе5о64=8O к о5уGе=8N 8 к64л8D8к4F88 
4уд8тоDо6, 

 От=еEе=8е О�О к к4те7оD88 4уд8Dуе<KE л8F  E «6KEок8< D8Eко<» пD8 пD8=Oт88 кл8е=то6 
=4 о5Eлу6864=8е,

 �Dо6еде=8O <о=8тоD8=74 6 DоD<е 6K5оDоG=о7о 8=Eпект8Dо64=8O 746еDHе==KE 
4уд8тоDEк8E 74д4=89 по к46до9 О�О.

6. �=DоD<4F8O о ко=тDоле 74 деOтелP=оEтPN 8 к4GеEт6о< 
ок47O64е<OE уEлу7 4уд8тоDEко9 оD74=874F8е9



�KO6ле==Kе 6 Eоде пDо6еде==о7о 8=Eпект8Dо64=8O =4DуHе=8O до6одOтEO до E6еде=8O 
Dуко6одEт64 О5IеEт64, котоDое ко=тDол8Dует 6=еEе=8е 87<е=е=89 6о 6=утD8D8D<е==Kе 
доку<е=тK, Gто 6 E6оN оGеDедL оDоD<лOетEO доку<е=т4лL=о 8 до6од8тEO до E6еде=8O 6EеE 
EотDуд=8ко6.
ОFе=к4 поEледEт689 =едоEт4тко6, 6KO6ле==KE 6 Dе7улLт4те <о=8тоD8=74, 6клNG4ет 6 Eе5O 
6опDоEK: 

 O6лONтEO л8 6KO6ле==Kе =едоEт4тк8 =4DуHе=8O тDе5о64=89 пDоDеEE8о=4лL=KE Eт4=д4Dто6, 
�4ко=4 № 307-Ф� 8 пD468л 6=утDе==е7о ко=тDолO к4GеEт64 E8Eте<4т8GеEк8<8 8л8 
7=4G8телL=K<8 =едоEт4тк4<8, тDе5уNI8<8 E6ое6Dе<е==о7о пD8=Oт8O Eоот6етEт6уNI8E <еD; 

 O6лONтEO л8 =4DуHе=8O EлуG4O<8, котоDKе =е о5O74телL=о ук47K64Nт =4 то, Gто E8Eте<4 
ко=тDолO к4GеEт64 О5IеEт64 =е 6 EоEтоO=88 о5еEпеG8тL D47у<=уN у6еDе==оEтL 6 то<, Gто 
О5IеEт6о 8 EотDуд=8к8 оEуIеEт6лONт ок474=8е уEлу7 6 Eоот6етEт688 E пDоDеEE8о=4лL=K<8 
Eт4=д4Dт4<8 8 тDе5о64=8O<8 =оD<4т86=KE 4кто6  оEE89Eко9 DедеD4F88, 4 т4к6е 6 то<, Gто 
4уд8тоDEк8е 74клNGе=8O 8л8 отGетK Eоот6етEт6уNт уEло68O< ко=кDет=о7о 74д4=8O.

!8Eте<4т8GеEк8е, по6тоDONI8еEO 8л8 8=Kе 7=4G8телL=Kе =едоEт4тк4<8, тDе5уNт 
E6ое6Dе<е==о7о пD8=Oт8O Eоот6етEт6уNI8E <еD. �Eл8 Dе7улLт4тK <о=8тоD8=74 ук47K64Nт =4 
=еEоот6етEт68е 6Kд4==о7о 4уд8тоDEко7о 74клNGе=8O 8л8 =4 =е6Kпол=е=8е =екотоDKE пDоFедуD 6 
Eоде 6Kпол=е=8O 74д4=8O, то DеH4етEO 6опDоE о пD8=Oт88 д4лL=е9H8E <еD 6 Eоот6етEт688 E 
пDоDеEE8о=4лL=K<8 Eт4=д4Dт4<8.
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7) Оп8E4=8е <еD, пD8=8<4е<OE 4уд8тоDEко9 оD74=874F8е9 по Dе7улPт4т4< 
6=утDе==е7о ко=тDолO к4GеEт64 D45отO:

6. �=DоD<4F8O о ко=тDоле 74 деOтелP=оEтPN 8 к4GеEт6о< 
ок47O64е<OE уEлу7 4уд8тоDEко9 оD74=874F8е9



д) !6еде=8O о 6=еH=8E пDо6еDк4E деOтелP=оEт8 4уд8тоDEко9 оD74=874F88,
пDо6еде==OE 6 теGе=8е тDеE лет, =епоEDедEт6е==о пDедHеEт6уNI8E 7оду, 6
котоDо< D4EкDO64етEO 8=DоD<4F8O, E ук474=8е< ко=тDолP=о7о (=4д7оD=о7о) оD74=4
(оD74=874F88), пDо6од86Hе7о пDо6еDк8, 7од4 пDо6еде=8O пDо6еDок:

�оEлед=OO пл4=о64O 6=еH=OO пDо6еDк4 к4GеEт64 D45отK ООО «�=DоD<�уд8т» 5Kл4 пDо6еде=4
!4<оDе7ул8Dуе<о9 оD74=874F8е9 4уд8тоDо6 �EEоF84F8е9 «!одDу6еEт6о» (! О ��!) 74 пеD8од
E 2019 по 2021 77. (6Kп8Eк4 87 пDотокол4 № 32-22 74Eед4=8O Ко<8EE88 по ко=тDолN
деOтелL=оEт8 ! О ��! от 30 дек45DO 2022 7од4).

� <4Dте 2023 7од4 5Kл пDо6едU= пDоD8л4кт8GеEк89 6878т ФедеD4лL=о7о к47=4Gе9Eт64 6 D4<к4E
6=еH=е7о ко=тDолO 6 от=оHе=88 деOтелL=оEт8 ООО «�=DоD<�уд8т» 6 DоD<е пDоD8л4кт8GеEко9
5еEедK.

е) � =4EтоOI89 <о<е=т отEутEт6уNт к4к8е-л85о пD8<е=Oе<Oе 6 от=оHе=88
«�=DоD<�уд8т» <еDO д8EF8пл8=4D=о7о 8 8=о7о 6о7де9Eт68O.
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6. �=DоD<4F8O о ко=тDоле 74 деOтелP=оEтPN 8 к4GеEт6о< 
ок47O64е<OE уEлу7 4уд8тоDEко9 оD74=874F8е9



7. �=DоD<4F8O о5 4уд8тоD4E, D45от4NI8E по тDудо6о<у до7о6оDу

5) Ч8Eле==оEтP 4уд8тоDо6, 8<еNI8E ед8=O9 к64л8D8к4F8о==O9 4ттеEт4т, – 9 Gел.

6) �е=еD4лP=O9 д8DектоD ООО «�=DоD<�уд8т» 74O6лOет, Gто
6Eе EотDуд=8к8, O6лONI8еEO 4уд8тоD4<8, 6Kпол=8л8 тDе5о64=8е, уEт4=о6ле==ое G4EтLN 9 Eт4тL8
11 ФедеD4лL=о7о 74ко=4 «О5 4уд8тоDEко9 деOтелL=оEт8», о пDоEо6де=88 о5уGе=8O по пDо7D4<<4<
по6KHе=8O к64л8D8к4F88, 6 о5Jе<е =е <е=ее 40 G4Eо6 74 2023 7од.

79%

21%

по оE=о6=о<у <еEту D45отK
по Eо6<еEт8телLEт6у 

4) О5I4O G8Eле==оEтP 4уд8тоDо6 по EоEтоO=8N =4
27.05.2024 EоEт468л4 19 Gел., 6 то< G8Eле:

 D45от4NI8E по оE=о6=о<у <еEту D45отK – 15 Gел. (79%);

 D45от4NI8E по Eо6<еEт8телLEт6у – 4 Gел. (21%).
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8. �=DоD<4F8O о5 4уд8Dуе<OE л8F4E 8 6ел8G8=е 6ODуGк8 от 
ок474==OE уEлу7
4) ООО «�=DоD<�уд8т» ок47O64ет 4уд8тоDEк8е уEлу78 о5IеEт6е==о 7=4G8<K< оD74=874F8O<,
по8<е=о64==K< 6 Eт.5.1 ФедеD4лL=о7о 74ко=4 N307-Ф� «О5 4уд8тоDEко9 деOтелL=оEт8».

� 2023 7оду пDо6еде= 4уд8т отGет=оEт8 ООО «'пD46лONI4O ко<п4=8O «�D468т4F8O»
(О� � 1223900005196).

5) � ООО «�=DоD<�уд8т» 74 2023 7од полуGе=4 6ODуGк4 40 918,8 тOE. Dу5.

5е7 ��!, 6 то< G8Eле:

46%

1%
28%

25%

О5O74телL=K9 4уд8т - 18 926,4 тKE.Dу5.

!опутEт6уNI8е 4уд8ту уEлу78 - 150,2 тKE.Dу5.

�DоG8е E6O74==Kе E 4уд8тоDEко9 деOтелL=оEтLN уEлу78 - 11 585,1 тKE.Dу5.

�=8F84т86=K9 4уд8т - 10 257,1 тKE.Dу5.

6) �ODуGк4, полуGе==4O 6 теGе=8е 2023

7од4 от 4уд8т4 отGет=оEт8 о5IеEт6е==о-

7=4G8<KE оD74=874F89 EоEт468л4
238,3 тKE. Dу5. 5е7 ��!.

�DоG8е E6O74==Kе E 4уд8тоDEко9
деOтелL=оEтLN уEлу78 о5IеEт6е==о-

7=4G8<K< оD74=874F8O<
=е ок47K64л8EL.
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